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Modern technology (computers, gadgets,
computer algebra systems) changes the
way to do mathematics and the way to
teach mathematics and natural sciences.



We discuss the use of technology in teaching introductory

statistics. Using computers in the course saves time by doing most

of the work on the computer and leaves more time in class for

explanations and discussions. It also prepares the student for the

real life – no one does statistical analysis by hand today.



Computer Algebra Systems (CAS), such as
Mathematica or Maple besides being easy to
program basic formulas, provide a set of ready
statistical tools ranging from basic descriptive
statistics to fitting the models, cluster analysis,
hypothesis testing and time-series analysis.





Remembering our university studies in the 1970s... 
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Example:  Find the variance and standard deviation for the following data:

Solution:
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Quartiles
Using the same method of calculation as in the  Median, 
we can get Q1 and Q3 equation as follows:
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Example: Based on the grouped data below, find the Interquartile Range
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Solution:
1st Step: Construct the cumulative frequency distribution 

Class Q1 is the 2nd class
Therefore,

2nd Step: Determine the Q1 and Q3
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IQR = Q3 – Q1

Class Q3 is the 4th class
Therefore,

Interquartile Range

IQR = Q3 – Q1

calculate the IQ
IQR = Q3 – Q1 = 34.3889 – 13.7143 = 20.6746



Using technology

We encourage students to use RCommander.

RCommander can be installed on Windows as well as on MAC OS, it is

free, fairly easy to use, and contains many tools and methods for statistical

analysis. It can also be used as an intermediate step towards using R.



Using RCommander

















Alternatives: 

JASP

JASP is open-source, free, very easy to install and has very nice GUI.



JASP
https://jasp-stats.org/

Note: you’ll need to export data as a .csv – file. 



JASP
https://jasp-stats.org/

Note: you’ll need to export data as a .csv – file. 













Problems and “problems”







Conclusions/Discussion



ChatGPT???



Thank you for attention!


